. = .A_uJ'y‘l \ \n\m\.\ﬂ\l\l
WORK SHEZT FOR STEPY.iI CALCULATION ™=~ PRESSURE T~ ¥

Form C-122-F
CUREACE (P.&Py) Adnpted 016
uozn>zl\s\&§,\?s: ,bf\a\&wﬁag.ﬂ man\mmﬁm ?&x\) M&.Na Aww\ \M\R WELL NO. OMI DATE ,\u..\|\\rw<\ L
_.OCATION: Unit \Wk Secicn /O Township \.@ acnge nWON
L2220 w _[RIR0 LM _[009 capn. . THO w0, % Ny % HS
4 L2FS F, .Q\Nﬁo\a @ tiZcfd  (L/H) (FiQp)2 2 Pt bl Z T, OS5
LINE ITEM  {SOURCE 1 | 2 3 ‘ 5 6 7 8 9 10
t|H 2720 | 46360 9
2 |GH 24/2 .8 (970 6. & 2 ; |
3 | 37.5GH . _,WMNmRQ 12464 20, Q. “ _ |
a |Peor P, | 37530].235%.433 50,51 278838\ 2204,/ 2707 2 \EE“I%M R | |
s |Pr 593 | Sio¥ | smoal #s2 | 4os | 4o ]
s |T 6/ | 5975|5575 | e3¢ | s34 5735 |
7 T, £63 | 195 | 498 | £32] 432 132 |
=7 _ \%%\N RS N R A A A
s |P/zb/z 8 Nyl 4363143/ 3 s 4.8 | 4y22.0 /29,5
10 |P/T2 96 14 2396\6.7227| 4. 5104] 2 7222 72 779 2| = 6 3
11 [(P/TZ)2/1000| (10} 22100
12 | L/H(F,Qm)2
13 11+ 12
14|l -8 \pg. 492\ e 452l 1946 26 1ag 218 129575 12 5991
15 | M=Py-Pp-, 94 | L 0O2 o2 | (4G c43
16 | Neln+loo | 290938 293, 1/ 3208394 205,174 2 7 2]
17 |MxN 15x16 \M&vlmrﬂ __NNm%\ul _
18 L MxN) | 17 ¢ 385 _ : _ |

One copy o be liied in Diatrict Ofllew {Vork cupy occericl o)




